

Ex

The frequency of a damped Harmonic oscillator is one-half the frequency of the same oscillator with no damping. find the ratio of maxima of successive oscillations.

The damping frequency ω_d

frequency without damping is ω_0

$$\omega_d = \frac{1}{2} \omega_0 \Rightarrow (\omega_0^2 - \gamma^2)^{\frac{1}{2}} = \frac{1}{2} \omega_0 \Rightarrow \omega_0^2 - \gamma^2 = \frac{1}{4} \omega_0^2$$

$$\omega_0^2 - \frac{1}{4} \omega_0^2 = \gamma^2 \Rightarrow \frac{3}{4} \omega_0^2 = \gamma^2 \Rightarrow \boxed{\omega_0 \sqrt{\frac{3}{4}} = \gamma}$$

$$\text{The damping period } T_d = \frac{2\pi}{\omega_d} = \frac{2\pi}{\frac{1}{2} \omega_0} = \frac{4\pi}{\omega_0}$$

$$x(t) = A e^{-\gamma T_d} \quad \begin{array}{l} \text{amplitude} \\ \text{damping factor} \end{array} \Rightarrow \gamma T_d = \frac{4\pi}{\omega_0} \cdot \sqrt{\frac{3}{4}} \omega_0$$

$$\gamma T_d = 10.88$$

$$x(t) = A e^{-10.88} \Rightarrow \frac{x(t)}{A} = e^{-10.88}$$

$$\frac{x(t)}{A} = 0.00002$$

maxima of successive oscillations

Forced Harmonic motion (Resonance)

(2)

we consider the motion of a damped Harmonic oscillator that is driven by external force F_{ext} . The Total applied force is then the sum of all three forces.

1 restoring force $-Kx$

2 the viscous damping force $-c\dot{x}$

3 driving force $F_{ext} \Rightarrow F_0 e^{i\omega t}$

$$m\ddot{x} = -Kx - c\dot{x} + F_{ext} \Rightarrow m\ddot{x} + c\dot{x} + Kx = F_0 e^{i\omega t} \quad (1)$$

$$x(t) = A e^{i(\omega t - \phi)}$$

نفسها ω ϕ

$$x(t) = A e^{i\omega t - i\phi} \Rightarrow \dot{x}(t) = \frac{dx}{dt} = i\omega A e^{i\omega t - i\phi}$$

$$\frac{d^2x}{dt^2} = \ddot{x}(t) = -\omega^2 A e^{i\omega t - i\phi}$$

(1) ω ϕ

A : is the amplitude
 ϕ : phase difference.

$$m \frac{d^2x}{dt^2} = -\omega^2 A e^{i\omega t - i\phi} = \ddot{x}$$

$$\dot{x} = i\omega A e^{i\omega t - i\phi}$$

$$(-m\omega^2 A + i\omega c A + K A) e^{i\omega t - i\phi} = F_0 e^{i\omega t}$$

$$e^{i\phi} = \cos \phi + i \sin \phi$$

$$A [-m\omega^2 + i\omega c + K] = F_0 e^{i\phi}$$

نفسها ω ϕ

$$A [-m\omega^2 + i\omega c + K] = F_0 [\cos \phi + i \sin \phi]$$

مع ω ϕ

$$A [-m\omega^2 + K] = F_0 \cos \phi \quad (2)$$

$$A i\omega c = F_0 \sin \phi \Rightarrow A \omega c = F_0 \sin \phi \quad (3)$$

نفسها ω ϕ

$$\frac{A \omega c}{A [-m\omega^2 + K]} = \frac{F_0 \sin \phi}{F_0 \cos \phi} \Rightarrow \tan \phi = \frac{c\omega}{K - m\omega^2}$$

$$\boxed{\tan \phi = \frac{c\omega}{K - m\omega^2}} \Rightarrow$$

If we square both side of equations (3) and (3)
 (2) we have

$$A^2(K - m\omega^2)^2 = F_0^2 \cos^2 \phi$$

$$c^2 \omega^2 A^2 = F_0^2 \sin^2 \phi \quad +$$

$$\frac{A^2(K - m\omega^2)^2 + c^2 \omega^2 A^2}{A^2[(K - m\omega^2)^2 + c^2 \omega^2]} = F_0^2 [\underbrace{\cos^2 \phi + \sin^2 \phi}_{=1}]$$

$$A^2[(K - m\omega^2)^2 + c^2 \omega^2] = F_0^2$$

$$A^2 = \frac{F_0^2}{(K - m\omega^2)^2 + c^2 \omega^2} \Rightarrow A = \frac{F_0}{((K - m\omega^2)^2 + c^2 \omega^2)^{1/2}}$$

$$\omega_0^2 = \frac{K}{m}, \quad \gamma = \frac{c}{2m}$$

$$\tan \phi = \frac{c\omega}{K - m\omega^2} \quad \div m \Rightarrow \frac{c\omega/m}{\frac{K}{m} - m\omega^2}$$

$$2\gamma = \frac{c}{m}, \quad \frac{K}{m} = \omega_0^2 \Rightarrow \tan \phi = \frac{2\gamma\omega}{\omega_0^2 - \omega^2}$$

$$A(\omega) = \frac{F_0/m}{((\omega_0^2 - \omega^2)^2 + 4\gamma^2 \omega^2)^{1/2}}$$

$$\omega_r = \text{Resonance Frequency} \Rightarrow \omega_r = \frac{dA(\omega)}{d\omega} = 0$$

$$\omega_r = \frac{d}{d\omega} \left[\frac{F_0/m}{((\omega_0^2 - \omega^2)^2 + 4\gamma^2 \omega^2)^{1/2}} \right]$$

$$0 = -\frac{F_0}{m} \left[\frac{1}{2} [(\omega_0^2 - \omega^2)^2 + 4\gamma^2 \omega^2]^{-3/2} \times [2(\omega_0^2 - \omega^2)(-2\omega) + 8\gamma^2 \omega] \right]$$

$$0 = \frac{-F_0}{2m} \frac{(-4\omega(\omega_0^2 - \omega^2) + 8\gamma^2 \omega)}{[(\omega_0^2 - \omega^2)^2 + 4\gamma^2 \omega^2]^{3/2}} = -4\omega(\omega_0^2 - \omega^2) + 8\gamma^2 \omega$$

$$\therefore -4\omega(\omega_0^2 - \omega^2) + 8\gamma^2\omega = 0 \div -4\omega$$

$$\omega_0^2 - \omega^2 - 2\gamma^2 = 0$$

$$\omega_0^2 - 2\gamma^2 = \omega^2$$

$$\therefore \omega_r = \omega_0^2 - 2\gamma^2$$

$$\therefore \omega_r = \sqrt{\omega_0^2 - 2\gamma^2}$$